
oo
o
d
!
o.
(g

a
d
v()
(o
I

EP
&=y3
d6
d9?ir)

-il
doo

.Ff

.= c\
cO rf
L^^9d
oC
-E 9)

Fts
o>
Eq
-E

3S
5U

-!do
o-ob0tr(q(!

!!
}E!s.-o(g

-2" A
Es
6a

d. 8.tro.
o.j
a-Y6:
toqtE

! 6lltp>!
bo-c' b0

[)=
o- ;'i
F:

=ov-
-Ao<
-: oi
6)

oz
(n
!
o

la.
b.

ffi$ffiffi
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(06 Marks)
generator

(10 Marks)* oR e* ff *r.u4 a- With a neat sketch, exptraiahCockcroft Walton,notJage multiptiercfumuii and also draw the
voltage waveforms acros$ the first and lryt pupubit6rc ;ilil ;%#d;d voltage multipliercircuit. * -: ,** l# .q. (to Marks)b. How a tull impukq#ive is characterize ain. .=ry!* il ffiili" *fl" #,

.* *\, i^W te*j:e" ';#= "

rMb'dute-3
5 a' What are the factors influencipg tlr"--Tp.rk *rr glf6S. of spheregaps? Explain any twofactors.*"',. ^ otIaCtOrS. * fuo "'$ 

* i* 
"*

(08 Marks)b' Determinp the breakdown, vbrt4ge for air gaps 2mm and l5mm lengths under uniform field
and mard atmospheriofu;qqdf,ions. Also deter'ffrine the voltase is the atmosnheric nres(rrrpano smnuard atmosphe:*FmdtJlqns. Also deter'ftrine the voltage is the atmospheric pressure
is 750mm Hg and temperaiFie 35"C * "** (0s Marks)

iflq::$' ,=,., ES ds--;\"

iffig i dP.. A,:::i -1rI\6 a-"*"Draw Chubb - Forpeicue circuit fot#asurement of peak value of a.c voltages. Discuss its
advantages ffil,i:r m9qh1dsr, $:- 

r---- ' 
(08 Marks)b. What it Ftqe*i coil? exfrailr'with a neat diagram its principle of opeiation for

measuremer*f,:bf high impulse purrents. (08 Marks)-\

-,*'E:ir::s*s MOdUIg-47 a- Explain the differentpJdies of .hur!ffiililion in the clouds. (08 Marks)b. What are the difforent methods employed for lighting protection of over head lines? Explainthem' ,.ffi (08 Marks)

e

tu* 1.dtr!

#

Explain the current growth in thepeffice of secondary processed (08 Marks)
Classify the breakdown mechagisi'&ffiquids and exptain *ly;fie mechanism. (08 Marks)&"*- fl;

, *t'l w"IJ$ OR
classify the breakd"*rJe,9$ffi in ,fit and e>iptainilir. mechanism. (r0 Marks)
In an experiment in u"ettt# gas it was found thap"{fre.$teady state curent is 5.5 x iOtde "iidistance of 0.4cm betffiodthe plane electro-des. i<$upi"g the field constant and reducing the
$islanc.e to 0.lcffi#nt, in a current o-f- 5.5, x tO-re. Calculate Townsend,s priirary
ionization 

T.E]ffi, * ,- (06 Marks)
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ffiOR Se, y
g a. A 3-phse single circuit transmission line is  00krn:Sffif the line is rated for 220kV and

has parameters, R : 0.1f1/km, L:1.26mHlt{nr*Gu:.0.009,_pF/km and G : 0. Find

15EE73

(i) The surge impedance and (ii) The velocity n neglecting the resistance of the

line if a.".g. of tsow and infinitely long ta{ttqites at one end of the line, what is !!e 
tim!

;rffi;;: r*r.. travel to the otler effiffi-tfit unet -.,,,;fu (08 Marks)

b. Write a note on surge diverters. #ry6+f ..#i
",d:s-

Mbdule-5
9 a. With a neat circuit diagrarq erftpTh iffi balanced detectionJmetitbd using Schering,O#tf;;_,

b. Explain the operation of S&ffi bridge for three terminhl measurements with Wagner's

0.15pF.0.15pF. pmflqrrr. the value of capacilance of this sample, its parallel equivalent loss

resisiar_rerg The pf and power loss uqder these conditions. (08 Marks)

10 a. A 33 kV, SoHz,ffidvokage Schering br$gesis used to test a sample of insulation. The

various arms 4ffiffi fo[owing parametem&We,balance. The standard capacitance 500pF, the

resistive brmcfo &il'O ohms and branch ffi parallel combination R and C, has 1800 and
n 1<..D .**-\al:-- +Lo .,al,a ^f ^r-oaiTl$n. nf fhis qamnle its narallel eouivalent loss

b. Expffitli$methods to determi capacitancffi shunt arrangement. (08 Marks)
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